Please help & please show step-by-step, thx, appreciate it.

Below are notes my instructor gave for this assignment that are relative and important. The problems are below. Thank you

The Chain Rule states how to differentiate composite functions 
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be differentiable, then the derivative of the composite function is 

In Leibnitz notation, if [image: image3.png]


and [image: image4.png]


, then . 

For example, 

or 
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The derivative of the exponential function [image: image6.png]


is 
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satisfies the equation [image: image9.png]


.

13. Let [image: image10.png]


be a constant. Find [image: image11.png](sinwz)"”



and show that [image: image12.png]flz) = sinwx



satisfies the equation [image: image13.png]f'(z) = —w?f(z)



. Note the notation: [image: image14.png]sinwz = sin(wx)



. 

14. Find an equation of the tangent line to [image: image15.png]y =52



at the point [image: image16.png]


. Note the notation: [image: image17.png]


.

